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1. Do youremember how to multiply fractions? Someone in your group does. With your group, multiply
the following fractions. Simplify your answer.
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2. Do you remember how to divide fractions? Someone in your group does. With your group, divide the
following fractions. Simplify your answer.
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Do you remember how to add fractions? Someone in your group does. With your group, add the
following fractions. Simplify your answer.
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4. Do you remember how to subtract fractions? Someone in your group does. With your group, subtract
the following fractions. Simplify your answer.
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